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Worksheet March 5
Propagation of light
Describe the propagation of light using Huygen’s principle.
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Describe the law of reflection. What is the difference between specular and diffuse reflection? Do J
they both obey the law of reflection?
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v ""AWhat is the difference between a real image and a virtual image?
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What does a positive object or image distance indicate? What does a negative object or image
distance indicate?
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Define magnification in terms of both distances and heights. Why is the sign of the magnification

important? ;
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Plane mirrors
What kind of images do plane mirrors produce? Upright or inverted? Real or virtual?
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What is the magnification of a plane mirror?
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Spherical mirrors
What is the center of curvature of a spherical mirror? What is the focal point of a spherical mirror?
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What is the principal axis? What happens to rays which are traveling parallel to the principal axis wireor,
when they strike a spherical mirror?
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What is a ray diagram? What three rays should be drawn in a ray diagram?
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Give a mathematical expression relating the image distance and object distance for a spherical ’ru\clpq‘ AN S,
mirror. | [ |
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What kind of images do concave mirrors produce? Does it depend on the object distance? = For econcae, yes.
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What kind of images of convex mirrors produce? Does it depend on the object distance?
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Problems
1. An 1.0-m tall object is placed 1.33 m in front of a concave mirror with a radius of curvature of
2.00 m. a) Predict qualitatively what the image will look like. Will it be real or virtual? Upright
or inverted? Larger or smaller? b) Draw a ray diagram to determine the approximate location
and height of the image. Were your predictions in part (a) correct? ¢) Calculate the image
distance, magnification, and image height. Include the signs for each of these quantities. Do
your values and signs match your results from the ray diagram in part (b)? £ £ 20 00
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